Grand Junction, Colorado

October 6, 1926.

The City Council of the City of Grand Junction, Colorado, met in regular session at 7:30 P. M., President of the Council Bell presiding. Those present and answering to roll call were Councilmen Logsdon, Bear, Meders, Fairley, Moslander, Ellison and Bell; City Manager Thompson, City Attorney Hinman and City Clerk Bliss.

The minutes of the previous regular, adjourned and special meetings were read and approved as corrected.

Estimate No. 6 (Final) of City Engineer for work done by Strange-Maguire Paving Company on Paving District No. 16 was read as follows:

CITY OF GRAND JUNCTION, COLO.

OFFICE OF CITY ENGINEER

Sept. 15, 1926

ESTIMATE NO. 6 (Final)

ESTIMATE OF CONTRACTOR, STRANGE MAGUIRE PAVING COMPANY OF SALT LAKE CITY, UTAH, OF WORK ON PAVING DISTRICT NO. 16

## Quantities to be Paid out of District Bonds:

4784.5 cu. yds. E	Excavation	Q	\$.90	\$4,306.05
7556.7 Lin. ft. c	curb & gutter	g	\$.97	7,330.00
9436.1 Sq. yds. P	Pavement (concrete base)	g	2.57	24250.78
5182.9 Sq. yds. P	Pavement (crushed rock base)	g	\$2.27	11765.18
49.0 Sq. yds. P	Pavement (St. Ry. track)	g	\$4.00	196.00
1029.9 Sq. yds. G	Gravel Shoulders	g	\$.25	257.48
5 M	ſanholes	g	\$65.00	325.00
18 C	Catch Basins	g	\$50.00	900.00
750.4 ft. of 8" S	Sewer Pipe in place	g	\$.75	562.80
445.3 ft. of 8" C	Catch Basin in place	g	\$.75	333.98
90 ft. of 12" S	Sewer Pipe in place	g	\$1.25	112.50
Force Account Bill No. 1				15.00
				50354.77
Less Estimates 1,2,3,4, & 5			44651.73	
Final Payment to be made from District Bonds			\$5703.04	

## Quantities to be Paid out of Intersection Fund:

1307.8 cu. yds. Excavation

@ \$.90 \$1177.02

Q\$.97 1168.4 Lin. ft. curb & gutter 1133.35 2924.8 Sq. yds. Pavement (concrete base) @ \$2.56 7516.74 431.8 Sq. yds. Pavement (crushed rock base) @ \$2.27 980.19 301.6 Sq. yds. Pavement (concrete alley return) @ \$2.20 663.52 72.5 Lin. ft. 72" Gutter @ \$1.85 134.13 84.5 Sq. ft Sidewalk @ \$.22 18.59 11623.54 10955.04 Less Estimates 3,4,5 Final payment to be made from Intersection Fund \$668.50

I do hereby certify that the foregoing is a full, true and correct estimate of the work done to date, September 15, 1926 on Paving District No. 16

/s/ E.R. Romberg

City Engineer

ATTEST /s/ C.P. Bliss

City Auditor

Moved by Councilman Meders and seconded by Councilman Logsdon, that said final Estimate No. 6 be accepted, and that the usual Notice to Claimants be published. On vote being duly taken President of the Council Bell declared the motion carried.

Estimate No. 5 of City Engineer for contractors, Strange-Maguire Paving Company, on work done on Paving District No. 15 was introduced and read.

CITY OF GRAND JUNCTION, COLORADO

Office of the City Engineer.

October 6th, 1926

ESTIMATE NO. 5

Estimate of Contractor, Strange Maguire Paving Company of Salt Lake City, Utah, of work done on Paving District No. 15.

Quantities to be paid out of District Bonds.

18123 cu. yds. excavation @ 90¢\$16310.7024841 lin. ft. curb & gutter @ \$1.0225378.2049462 sq. yds. paving, asphalt on rock base @ 2.27112278.74700 sq. yds. St. ry. asphalt on rock base @ 2.271589.00733.33 sq. yds. paving asphalt on concrete base @ 2.571884.66670.22 sq. yds. concrete base @ 1.00670.22

4 Street railway crossings, Force Account Bill #2 2 Catch Basins @ 50.00	523.40 100.00
Materials on Hand but not in place.	
15 tons of asphalt @ \$23.00 40 cu. yds, of crushed rock @ \$1.40	345.00 56.00 159135.92
Less 10% retained	15913.59
Less estimates 1,2,3, & 4 Total to be paid out of District Bonds.	143222.33 120535.07 \$22687.26
Total quantities to be paid out of Intersection Fund:	

 5811 cu. yds. Excavation @ 90¢
 5229.90

 4534 lin. ft. curb & gutter @ 1.02
 4624.68

 14975 sq. yds. paving asphalt on rock base @ 2.27
 33993.25

 715.5 sq. ft. of sidewalk @ .24
 171.72

 230 sq. yds. Alley return pavement @ 2.20
 506.00

 Force Account Bill No. 1
 25.01

Less 10% retained

 Less estimates 1,2,3, & 4
 32059.81

 Total to be paid out of Intersection fund.
 8035.79

4455.06

I hereby certify that the foregoing is a full, true, and correct estimate of the work done to date, October 1st, 1926, on Paving District No. 15.

/s/ E.R. Romberg

City Engineer

ATTEST /s/ C.P. Bliss

City Auditor

Moved by Councilman Ellison and seconded by Councilman Bear, that said Estimate No. 5, work done on Paving District No. 15 be accepted and allowed and the City Clerk be authorized to draw warrants for \$22,687.26 on Paving District No. 15 funds, and \$8,035.79 on Intersection fund in payment of same. Vote was taken on roll call. All the Councilmen present voting yea, President of the Council Bell declared the motion carried.

Application having been made to erect a hamburger stand on the lot at the southeast corner of Main and Third Streets by G. G. McKague, it was moved by Councilman Ellison and seconded by Councilman Bear that the application be rejected. All the Councilman present voting yea, President of the Council Bell declared the motion carried.

On motion regularly made, seconded and carried, the application of D. L. Cook to erect a frame building on Lots 16 and 17, Block 127, to be used for the sale of second-hand automobile parts, was taken up for action, whereupon it was moved by Councilman Meders and seconded by Councilman Moslander that the application berejected. Vote being duly taken and all the Councilmen voting yea, President of the Council Bell declared the motion carried.

Moved by Councilman Ellison and seconded by Councilman Bear, that the City Manager instruct the Chief of Police to enforce all ordinances, whereupon it was moved by Councilman Meders and seconded by Councilman Moslander, as a substitute motion, that the City Manager have the Chief of Police assign a police officer to restrict the red light district, and permit no further additions thereto. Vote was taken on the substitute motion by roll call. Those voting yea were Councilmen Meders, Moslander, Logsdon. Those voting nay were Councilmen Bear, Fairley, Ellison, Bell. President of the Council Bell declared the substitute motion lost. Vote was then taken on the original motion on roll call. Those voting nay were Councilmen Ellison, Bear, Fairley and Bell. Those voting nay were Councilmen Meders, Moslander and Logsdon. President of the Council Bell declared the motion carried.

On motion of Councilman Moslander, seconded by Councilman Meders and duly carried, the Council adjourned.

/s/ C.P. Bliss City Clerk.